Programl_bal | _drop. | sc

/*
/ OLOGBOOK
0

*/
programtest {

#i ncl ude <RCX2. h>

#i ncl ude <RCX2M.T. h>

#i ncl ude <RCX2Sounds. h>

#i ncl ude <RCX2Def . h>

var C counts = 0

sensor lightl on 1

lightl is light as percent

event |Brite_lightlEvent H gh when |ight1. high

sensor light2 on 2
light2 is light as percent
event |Brite_|ight2EventH gh when light2 > 30

sensor rotation3 on 3
rotation3 is rotation as angle
event equal rotation3Event Equal when rotation3 =1

event greater_C countsEvent Hi gh when C counts > 2100
event greater_ C countsEvent H ghO when C counts > 2000

macro DROP_BALL ({
counterl = (light2*10)
di splay counterl:1
direction [ ] [ A]
on[ A ] for 100
direction [ A 1 [ ]
on [ A ] for 100

mai n {
ext InterfaceType "kFreestyle"
rcx_Cl earTiners
bbs_d obal Reset ([A B ()
start LightWatcherO
start LightWatcherl
start Rotati onWat cher 2
rex_Priority( 8)
trigger |IBrite_lightlEventHi gh
trigger |IBrite_|ight2EventHi gh
trigger equal _rotati on3Event Equa
try {
direction [ C ] [ ]
C counts =0
rcx_Calibrate(4,4)
cl ear Rotation3
on [ C ]
} retry on fai

try {
repeat {



C counts
C counts
} until
} retry on fai
try {
float [ C ]
} retry on fai
try {
DROP_BALL
} retry on fai
try {
direction |
C counts =0

(rotation3*10)
abs(C _count s)

greater _C count sEvent H gh

11 ¢C]

rcx_Calibrate(4,4)

cl ear
on [ C ]
} retry on fai
try {
repeat {
C counts
C counts
} until
} retry on fai
try {
float [ C ]
stop tasks
} retry on fai

wat cher
{
rcx_Priority( 4)
try {
} restart on fai
} restart on event
wat cher

rex_Priority( 4)
try {
} restart on fai
} restart on event
wat cher
{
rcx_Priority( 5)
try {
} restart on fai
} restart on event

}

Progran?_server_food. | sc
/*

/ OLOGBOOK
0

*/
programtest {

#i ncl ude <RCX2. h>

Rot ati on3

Li ght Wat cher O noni t or

Li ght Wat cher 1 nonitor

(rotation3*10)
abs(C_counts)

greater C count sEvent H ghO

IBrite_ |ightlEventH gh

I Brite_light2Event H gh

Rot at i onWAt cher 2 noni t or equal _rot ati on3Event Equa



#i ncl ude <RCX2M.T. h>

#i ncl ude <RCX2Sounds. h>

#i ncl ude <RCX2Def . h>

var C counter =0

sensor lightl on 1

lightl is |ight as percent

event |Brite_|lightlEventH gh when lightl > 99

sensor light2 on 2
light2 is |ight as percent
event | Dark_|ight2Event Low when |ight2.]ow

sensor rotation3 on 3
rotation3 is rotation as angle
event equal rotation3Event Equal when rotation3 =1

event greater_C counterEvent H gh when C counter > 900

event greater_C counterEvent H ghO when C counter > 800

mai n {
ext InterfaceType "kFreestyle"
rcx_CearTiners
bbs d obal Reset ([A B C])
start LightWatcherO
start LightWatcher1l
start Rotati onWatcher?2
rcx_Priority( 8)
trigger IBrite_|ightlEventHi gh
trigger |Dark_Iight2Event Low
trigger equal _rotation3Event Equa
try {
direction [ C ] [ ]
C counter =0
rcx_Calibrate(4,4)
cl ear Rotation3

on [ C ]
} retry on fai
try {
repeat {
C counter = (rotation3*10)
C counter = abs(C_counter)
C

} until greater_
} retry on fai
try {
off [ C ]
direction [ ] [ A]
on [ A ] for 100
sound 4
direction [ ] [ C]
power [ C ] 8
rcx_Calibrate(4,4)
cl ear Rotation3
C counter =0
on [ C ]
} retry on fai

try {
repeat {

,_count er Event Hi gh



}

C counter = (rotation3*10)
C counter = abs(C_counter)
} until greater_ C counterEvent H ghO

} retry on fai
try {
off [ C ]
stop tasks
} retry on fai

wat cher Li ght\WatcherO nmonitor |Brite_I|ight1lEventHi gh
{
rcx_Priority( 4)
try {
} restart on fai
} restart on event
wat cher Li ghtWatcher1 nonitor | Dark_light 2Event Low
{
rex_Priority( 4)
try {
} restart on fai
} restart on event
wat cher Rot ati onWat cher2 nonitor equal _rotati on3Event Equa
{
rcx_Priority( 5)
try {
} restart on fai
} restart on event

ProgranB8_flag_gate chairs2.lsc

programtest {

#i ncl ude <RCX2. h>

#i ncl ude <RCX2M.T. h>

#i ncl ude <RCX2Sounds. h>
#i ncl ude <RCX2Def . h>

var C Counts =0

var B Counts = 0

var LS1 Bus Color =0
var flag Bus Stop Is =0
var turn_counts = 0

var fwd_counts
var bwd_counts
var flag_search c
var turn2_counts
var fwd2 counts = 0
var LS1 whiteFlag = 0
var LS1_Difference =0
var LS1 background = 0
var fl ag_BackgroundMode
var LS1 Wi ght edAver age
var tnmpl =0

var flag_search =0

var LS2 Field Color =0
var skip_spaces = 0

var Found _Red = 0
sensor light2 on 2

0
0
hair2 =0

[
0

Inn
o



light2 is light as percent

event

[Brite_light2EventH gh when light2 > 99

event tinmerl tinmerlEvent when tinmerl > 10

event equal _flag_sear chEvent Equa

sensor

rotation3 on 3

rotation3 is rotation as angle

sensor

l[ightl on 1

lightl is |ight as percent

event greater_ C CountsEventH gh when C Counts > 700

macr o

macr o

nmacr o

FWD CHAI RL {
C Counts =0
direction [ C
on [ C ]
direction [ B
on[ B ] for
whil e C Counts
C Counts
C Counts

}
off [ C ]

PUSH CHAI R1 {
B Counts =0
direction [ ]
on [ B ]
while B Counts

}

off [ B ]

B Counts =0
direction [ B
on [ B ]
whil e B _Counts

}
off [ B ]

FI ND_THE_BUS {
if flag_search

]

Inin A=

N

N

[ ]

[ ]
0

1300 {
(rotat

abs(C_

B ]
400 {

[ ]
400 {

10{

i on3*10)
Count s)

rcx_Calibrate(4,4)

cl ear
C Counts

Rot ati on3

0

direction [ C ]

on [ C ]
repeat {

C_
C_
i f
}

els

{
}
i f

Co
Co
f

e

[ightl > (LS1_Bus_Color / 10){

unts =
unts =

[ ]

(rotation3*10)
abs(C_Count s)

lag Bus_Stop_Is > 0f
C Counts = 9990

off [ C ]

sound 3

flag _search = 20
flag Bus_Stop Is =

C Counts =

9990

when flag_search

10

30



—

el se
{
. .
} until greater_C CountsEvent Hi gh
off [ C ]
}
el se
{

}
if flag_search = 10{
rcx_Calibrate(4,4)
cl ear Rotation3
C Counts =0
direction [ C ] [ ]
on [ C ]
repeat {
if flag_Bus_Stop_Is > 0{
C Counts = 9990

}
el se
!
C Counts = (rotation3*10)
C Counts = abs(C_Counts)
if lightl > (LS1 Bus_Color / 10){
off [ C ]
sound 2
flag_search = 20
flag Bus_Stop Is = 20
C Counts = 9990
}
el se
{
» .
} until greater_C CountsEventHi gh
off [ C ]
}
el se
{

}
if flag_search = 10{
rcx_Calibrate(4,4)
cl ear Rotation3
C Counts =0
direction [ C ] [ ]
on [ C ]
repeat {
C Counts = (rotation3*10)
C Counts = abs(C _Counts)
if lightl > (LS1_Bus_Color / 10){
off [ C ]
sound 4
flag _search = 20
flag Bus_Stop Is = 30
}

el se

{
}
if flag_Bus_Stop_Is > 0{



C Counts = 9990

}
el se
%
} until greater_C CountsEvent Hi gh
off [ C ]
}
el se
{
}

macr o WACK BUS STOP {
direction [ ] [ A]
on[ A ] for 40
direction [ A ] [ ]
on[ A ] for 40

macr o SEARCH FOR GATE {
if flag Bus_Stop_|Is = 10{
turn_counts = 220
fwd_counts = 1230

el se
if flag Bus_Stop |Is = 20{

turn_counts = 370
fwd_counts = 460

}
el se
{
turn_counts = 560
fwd _counts = 200
}

}

B Counts =0

direction [ ] [ B]

on [ B ]

while B Counts < turn_counts {

}

off [ B ]
B Counts =0
C Counts =0

rcx_Calibrate(4,4)

cl ear Rotation3

direction [ C ] [ ]

on [ C ]

while C Counts < fwd_counts {

C Counts (rotation3*10)
C Counts abs(C _Count s)
}
off [ C ]

macr o WACK _GATE {
off [ ABC ]
direction [ ] [ A]
on[ A ] for 1
direction [ A ] [ ]
on[ A ] for 5



macro SET_VALUES ({
comment (0, O ) "Iniitalize a set of distance and turn
par aneters based on which flag was found."

if flag Bus_Stop_|Is = 10{
bwd_counts = 0
turn_counts = 800
fwd _counts = 550
turn2_counts = 100

fwd2_counts = 750
ski p_spaces = 200
}
el se
{ _
if flag_Bus_Stop_lIs = 20{
bwd counts = 0
turn_counts = 600
fwd_counts = 480
turn2_counts = 130
fwd2_counts = 750
ski p_spaces = 250
}
el se
{
bwd_counts = 0
turn_counts = 360
fwd_counts = 1420
turn2_counts = 160
fwd2_counts = 710
ski p_spaces = 550
}
}

}
macro FIND RED LI NE {
C Counts =0
rcx_Calibrate(4,4)
cl ear Rotation3
direction [ ] [ C]
B Counts =0
direction [ ] [ B]
conment (0, O ) "Rotate the robot by turn_counts"
on [ B ]
while B Counts < turn_counts {

B Counts 0
C Counts 0
comment (0, 0 ) "Warning tone if the touch sensor happens to
be pressed.™
if light2 > 99{
sound 3
}

el se

{

}

rcx_Calibrate(4,4)

cl ear Rotation3

C Counts =0

direction [ C ]

conment (0, O ) "Now nove forward until we find the white
area of the basketball field#c just past the red line."

}
off [ B ]



on [ C ]
comment (0, 0 )

to the steps.”

macr o

C Counts

while C Counts <
C Counts =

}
Found Red = 0

whi | e Found_Red
if light2
if ol
el se
{
}
}
el se
{
on |
}
}
SEARCH_CHAI R2 {

comment (0, 0)

which flag was found."

chair."

nmacr o

B Counts =0
direction [ ] [
comment (0, 0 )

on [ B ]
while B Counts <

}
off [ B ]
B Counts =0
C Counts =0
rcx_Cali brate(4,
cl ear Rotation3
direction [ C ]
comment (0, 0 )
on [ C ]
whil e C Counts
C Counts
C Counts

LI AN

}
off [ C ]

PUSH_CHAI R2 {
comment (0, 0)
B Counts =0
direction [ ] [
on [ B ]

while B Counts <

}

off [ B ]
B Counts = 0
direction [ B ]
on [ B ]

while B Counts <

"Wat to make sure we don#st hit the wal kway

ski p_spaces {
(rotation3*10)
abs( C_Count s)

< 10 {

< 98{

ight2 > (LS2_Field Color / 10){
off [ C ]

Found _Red = 11

B ] for 5

"Set the turn and forward counts based on

B 1]
"Rotate by turn2 _counts to line up on the

turn2_counts {

4)
[ ]

"Move up to the chair.”
fwd2_counts {

(rotation3*10)
abs( C_Count s)

"Now push in that chair."
Bl

400 {

[ ]
400 {



}
off [ B ]

macro TO BASE {
if flag_Bus_Stop_Is = 10{
fwd_counts = 850
turn2_counts = 300
fwd2_counts = 350

}
el se
{ .
if flag_Bus_Stop_Is = 20{
fwd _counts = 850
turn2_counts = 120
fwd2_counts = 500
}
el se
{
fwd_counts = 850
turn2_counts = 120
fwd2 _counts = 500
}
}
C Counts =0
B Counts =0

rcx_Calibrate(4,4)

cl ear Rotation3

direction [ C 1 [ ]

on [ C ]

while C Counts < fwd _counts {

C Counts (rotation3*10)
C Counts abs(C _Count s)
on [ B ]

direction|[ ] [ B]
while B Counts < 120 {

}
off [ B ]
}

}
event |Brite_light2Event H ghO when Iight2 > (LS2_Field_Color / 10)

main {
ext InterfaceType "kFreestyle"
rcx_CearTiners
bbs d obal Reset ([A B C])
start LightWatcherO
start TimerWatcher1
start vari abl eVt cher 2
rcx_Priority( 8)
trigger IBrite_light2EventH gh
trigger tinerl_timerlEvent
trigger equal _flag_searchEvent Equal
try {
display flag_Bus_Stop_Is:1
flag_Bus_Stop Is =0
flag _search = 0
LS1 Bus_Color = (light1*10)
LS1 Bus_Color -= 40
LS2_Field _Color = (light2*10)



LS2_Field_Color -= 40
} retry on fai
try {
FWD_CHAI R1
} retry on fai
try {
PUSH_CHAI R1
} retry on fai
try {
flag_search = 10
} retry on fai
try {
FI ND_THE_BUS
} retry on fai
try {
WACK_BUS_STOP
} retry on fai
try {
SEARCH_FOR_GATE
} retry on fai
try {
WACK_GATE
} retry on fai
try {
flag_search = 30
} retry on fai

wat cher Li ghtWatcherO nmonitor |Brite_|ight2Event Hi gh
{

rex_Priority( 4)

try {

B Counts += 10

} restart on fai
} restart on event
wat cher TinmerWatcherl nmonitor timerl tinmerlEvent

{
rex_Priority( 8)

try {

if flag_search = 10{
direction [ B ] [ ]
on[ B ] for 10
clear Timerl

}

el se

{

} restart on fai
} restart on event
wat cher vari abl eWat cher2 nonitor equal flag searchEvent Equa
{
rex_Priority( 2)
try {
SET_VALUES
FI ND_RED LI NE
SEARCH CHAI R2
PUSH CHAI R2
TO BASE
stop tasks



} restart on fail
} restart on event
fragment ( 860,3390 ) {

di splay C Counts: 1

}
fragment ( 940, 1965 ) {

off [ C ]
conment (0, O ) "Hunt for that white area."
wait until [Brite_light2EventH ghO

}
Programi_cd_gl asses. | sc
programtest {

#i ncl ude <RCX2. h>

#i ncl ude <RCX2M.T. h>

#i ncl ude <RCX2Sounds. h>
#i ncl ude <RCX2Def . h>

mai n {

ext InterfaceType "kFreestyle"

rcx_Cl earTiners

bbs_d obal Reset ([A B ()

try {
power [ C ] 8
direction [ C ] [ ]
on [ C ] for 250
direction|[ ] [ C]
on[ C ] for 250
stop tasks

} retry on fail



